22 July 2023 20:24

Produc bon and Cock

N —e——e—————————~—

[ Suppbb' Stde Analysl;sj

- > Labbure
Procluchon fn: ('@L = f(L, K )
\_/l
L S CAPLLL&L.
> thanﬁl-y

PHOdLZCLd 2 su(JPLLLc( bb’ w F‘I'/‘U'VI/'
Produc erie are present in 2 ™markelc

(1) Product Mick [¢ell the output produced |

Cchd—Pi’CH on  Mkts ) : => Supply c<ide of the met
() Factr Mg [ tACV L’“V L2 K for procuchon priocece |
(thapten on Producbon 3 Cag[:->

DLJ of & Producer.: 77- MAX I i2ahpn -

By defn: T=R-C =Pq-c.

(i) When the pnoducen & L the product mif: Max T éhooil.ﬂg ‘[
Ciy When the producen u N the facion mEb:Max T ehoosing LK.

Cos b 07[ Produce i —s Paymcnl: to [abDbU‘LLNagc Feal ¢ [t/l))

L /QAymenb for Ca/alt—dL P Hental r—mb((h)

A )
(SC _ WL-}-/“LK}‘ = Coct t’xfa/—u&sion ‘fo'L the {7\,1%,

Forn Facton Manket: [ Choose opl amt of LEK st iy max ]
AN

Ne know, fr the fium. Produchon fn: 9 = (L, k)

Coct &xlo : DOL-/-n,/( .[W/h:faarmmatu-nsj

= R-¢ = p g. I
P-q- ¢ ‘/PJCCL)K)_ lA)L—/‘lKli[fnofL))( Dm”j
g P[/M, | L
¥ = \<_D’L_),‘_w =0 = //P‘ MFL = r|\ — L0 LVL.‘I’Iﬂ thu
T _ A | 3—1—5_ -0 _ SR gLues L¥ & k¥
9T - p = p-[ 2L\~ K - -
) L ( 3K 7 P MP =

S _ —

New Section 18 Page 1



Herte L* = Lq( W, K, P) = Laboumr demand, &
gr - X (w/,.() P) Caprtul demmand
‘ | i B W e T (Ylope of
(1) p MPL =N = P = - ﬁgaﬂ}*“ﬂt) ot
MPL ) I S\D?b v
LID =) P MP/C - = _ﬂ ‘ MFK _ }'t __> (( MPL - l//{}\)‘?? Lo’,b L¥*
P, (MPe el
—— 1 7
At opt: [MRTS: ﬂ) o
Lo FAJ—_(LJ Othtﬁahor\, cond lthign -

=
MRTS: Slope of the lsoquant.

4= fLLK)
L c[2 2 dr .
Duff:  dg é—f AL + (m) dE

Chetk:
Py

hr icoguant 47:0 3 0 = MFL‘d—L+MP/L-dto

L
2
O R S RIS P
Cost Exprtession: = WL +nk .
At -p = ﬁ:—ﬂ = /iﬁ_(_w
AL o AL | T

Anoth cn approuch: Cost Minime sy oo
w

Fix a chd, D]l Dutput c{/: % - Debertmine the v imimum Level o]L
tost nequened b pnoduce f |

Min ¢ = WL+ RrK sf%:f(@/c)
{ Lt

£ = WL+ rK+ Af-fi- Q(L,K)]
)&

1\ - N W= P =0 -— U
= W*ﬂ(ﬁ)—o > ﬂ,VlL. O - )

LA

New Section 18 Page 2



W-AMF =0 -

%:03 w=-2A(35r) =0 2
L
— - MP, =0 .___ ¢y
29\ =0 = " AMPy, )
EIO =) /- ;‘(gz
Dk B
2k =p >  7-9q(Lt)=0D 3 9=9(LK)
DA
O () -
MFL MP/(
CUmbani: e > A iﬂ\ o OpBmizabon
MPL MP/( : MPK }L/} Lai’ld/‘bbr\,

-~ m T

we will obtain . LY== LY¥(W, H,9)
k¥ = k¥ (w, n, 1)

C = w L*¥(Wn,g) K (WK, )

= c(w, )L{/i) > Llost Funchon

[,Mt'm‘mum amount of coct reqd bo

produce & giyen Llevet of ‘l]

New Section 18 Page 3



